


Today is 29th of January.

Today is Tuesday. 

It is winter.



[w]
When the weather is cold

We must wear a coat;

When the weather is hot

We must wear a skirt.



«What are you wearing?»



Present Continuous

I am wearing

She is wearing

He is wearing

They are wearing



clothes

jumper

pyjamas

jacket

trousers

jeans

coat

skirt



Jeans

Skirt

Trainers

Socks

Boots

Jumper



a dress a T-shirt
a hat shorts
shoes jeans
jacket trainers
a skirt socks

 



What have you learned today? 

What was difficult for you? 





Write the missing letters.

  p_ _am_s

ja_k_t 

tr_ _ _ers 

j_m_ _r 

je_n_ 

c_ _t

 _k_rt



pyjamas

jacket 

trousers 

jumper 

jeans

coat

 skirt


